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Heat Absorbed (Cool Side)

1.1. 2t ofjof s
= AI|A, A, 2HC]0j|0]ES
= QWBHHLAl - LHOj7H 7| S 2D B7|S B0 Qi HPAl S p—
= CHY i), 0|2, 210], 42 EN, 0[N 2, 2IE VAR
= A AH| A ys LHE 58 Ry s

1.2. Peltier 23} (234
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1.3. GHAo| A2

. [PI=IN]=[P]-[N]-[P]-[N]-... 84 12774 Al
A5t 2| F0l|l= MEHY (ZAF7]) AR
35 (40x40x4 mm), S (Small, £&37)

=42t (V, Volt) : 12V (ZIcH 15.5v), 24V

=242 (I, Ampere): 6 ~ 15 Amp

= A M8 (W, Watt) : 12V x 15Amp =180 W

(W=1xV, Power - #=7t2| 3!)

# 27| 2% (E, Energy) =W x H (hour)
- 3I-A|7|-EO|-A|._9_%I- AQl= 117|o| iE-F

#QI4HM 4 Cell I = 12~14.6V (2 33 3.2V, 474 21E 1 12.8v)
# Q142 600AH = 12.8 V A (E3) x 600 Amp x TA|ZH
#

(f2]) A0|Z= gl (W=1xV V=IxR)
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C/S : Size

1: 2k Style
127 : A2} M4
10: 42



60~65C

AR (42 2 (T0)

:=10C
:=20C

(1) Th:50C==Tc
(2) Th:40C=> Tc

0f0
Rl
S
O
~
<C
w
ol

7t - o2k US$ 3.00 M

S| StA

£ Qlst7iLt ojo|

M7 &2l



IN

19.5CM/7.7




1.5 488 TEM : Model TEC1-12715 (£H] 180W) 44 Z&

=WHHF 2 : 21C (70F) ~ 26C (79F), 247 23.5C (74F) ———
Performance Curves at Th=50 °C

= OFZHAILY 2= : 34C 2 7+ (-10C &5}
= Th:50C 7ty (f2l= 2H&ES+d0l -- SHE HS)
=Tc @ 21C (Dt=29C) --) 104W Het=2 (B)

=Tc @ 26C (Dt=24C) --) 116W & (G)
=g HHk=2 1 110 Watt (COP 0.62)
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%E—.OI‘% 7E H2]: SYSE+HRS 0+ 2
S2h: HA 3.4m2 x 0] 90cm (30cm = 1 foot)
Mot A8 2k 37 SFTx3FT =111 CFT

- 2= 2[4 21C (70F) ~ 2|ch 26C (78F) : 23.5C

= AQ WHHIEF (Consumer Reort EZO1) ... —-10C WEA|
-20BTU (1 SQFx8FT=8CFT)7} 22

=Sienna (‘SFHO[') & 2%

- 111 CFT /8 CFT (2.4m) x 20 BTU = 280 BTU

-TW Y& = 3.41BTU

- 280 BTU / 3.41 = 82 Watt 2| HHt7| 20| 2
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o

~21C~ ;7}(2511|017|) . AIZH41 Runtime §
= AL QA AR = 180 Wx 0.5 = 90 W (2 7 AH)
=244 8A|ZHALE =7 AH x 8 = 260 AH (F44)

# AER-IA (140 CFT 71) =) 140/111 x 60 AH = % 75 AH (8 A|ZH



1.9. o933 820 100AH ! Z ¢

CASE [1] FYSE27|0 U= 29 - 14 AWA|  CASE [2] FBZE27[+Solar - 14 ABA
- 3| BHEAEIR 7Y (13 100AH) T EHA YRR Y (@ 100AH)
AT (14AZHHIES) = 14X 6Ampx 0.5 - XA S2HE = 14412t x 4 Amp = 60AH
= 42 AH - WA = 14x6Ampx 0.5 = 42 AH
~ '3Hu0| 0f|0§74 = 6 A|ZHx 7 AH = 42 AH - '3H0| 0f|01Z4 = 8 A|Ztx 7 AH = 56 AH
~ IfH Z2F: 100 - 42 - 42 = 16 AH - I 242§ : 100 - 42 -56 + 60 = 62 AH
# HR D H|REH 14A|ZH+ 0|07 6A| 2t + 7|E} # 16k 8A|ZHOf|O{ 0] = LS Ak
LED 53} 07ke] e E2 AG5 3 T2

# 281 3MA| = 7S (&2t ST [h2t)



1.10. 'EEHHO|'0| O} 2 7| AD2F 1.11. 'sEH0|'9| ot 3 (320+280 AH)
= AC (8AIZH =7 AHx 8 =56 AH =52} glg, £37] (20+30A), 3t 55A
= WD (24171 =6 AHX 24X 0.6 = 72 AH = AU B3 347t 78 = 3x 50A = 150AH
= L E8 (6AI2H) =2.5AHX6=15AH = Before (153AH) ... i7E U= S 74|
=HE (12€18]) = 18 AH = After (209 AH) .. 0§ 50-60AH &}z
=22[: 700 W x 152 x 28] = 30 AH (Y2Uoj| ot Y SIS EQ)
=710 : 600 W x 42 x 38| = 50A x 122 =10 AH (Gas OvenQ.Z 7| ZAt 20{EA})
=7|E}: LEDS, M&87|, USB £ &5 =8 AH

600AH "SF#0]" = 230 2 3-4 2| A4
100AH Tt = 0fj0jZ1 7t50.2 1412 7ks

Before (153 AH) =) After (209 AH)




